

Derivatives and Integrals of the Inverse Hyperbolic Functions

Derivatives of the Inverse Hyperbolic Functions

$$y = \sinh^{-1}(x)$$

$$\rightarrow \sinh(y) = \sinh(x) \sinh^{-1}(x)$$

$$x = \sinh(y)$$

$$\therefore x = \sinh(y)$$

$$\boxed{\sinh(y) = x}$$

$$1 = \cosh(y) \frac{dy}{dx}$$

$$\frac{dy}{dx} = \frac{1}{\cosh(y)}$$

$$\cosh^2(y) - \sinh^2(y) = 1$$

$$\cosh^2(y) = \sinh^2(y) + 1$$

$$\frac{dy}{dx} = \frac{1}{\sqrt{\sinh^2(y) + 1}}$$

$$\frac{dy}{dx} = \frac{1}{\sqrt{\sinh^2(\sinh^{-1}(x)) + 1}}$$

$$\Rightarrow \frac{dy}{dx} = \frac{1}{\sqrt{x^2 + 1}}$$

$$y = \cosh^{-1}(x)$$

$$\cosh(y) = x$$

$$\sinh(y) \frac{dy}{dx} = 1 \Rightarrow \frac{dy}{dx} = \frac{1}{\sinh(y)} \quad \text{--- (1)}$$

$$\sinh^2(y) = \cosh^2(y) - 1$$

$$\sinh^2(y) = \sqrt{\cosh^2(y) - 1} \quad \text{--- (2)}$$

(1) & (2) reu

$$\frac{dy}{dx} = \frac{1}{\sqrt{\cosh^2(y) - 1}}$$

$$\rightarrow y = \cosh^{-1}(x) \Rightarrow y \rightarrow \text{reu}$$

$$\frac{dy}{dx} = \frac{1}{\sqrt{\cosh^2(\cosh^{-1}(x)) - 1}}$$

$$\Rightarrow \frac{dy}{dx} = \frac{1}{\sqrt{x^2 - 1}} \quad \rightarrow \begin{cases} x^2 > 1 \\ |x| > 1 \end{cases}$$

$$y = \tanh^{-1}(x)$$

$$\tanh(y) = x$$

$$\operatorname{sech}^2(y) \frac{dy}{dx} = 1$$

$$\frac{dy}{dx} = \frac{1}{\operatorname{sech}^2(y)} \quad \text{--- (1)}$$

$$\operatorname{sech}^2(y) = 1 - \tanh^2(y) \quad \text{--- (2)}$$

~~sech~~ (1) \times (2) result

$$\frac{dy}{dx} = \frac{1}{1 - \tanh^2(y)}$$

$$\frac{dy}{dx} = \frac{1}{1 - \tanh^2(\tanh^{-1}(x))} \Rightarrow \frac{dy}{dx} = \frac{1}{1 - x^2} \quad ; |x| < 1$$

$-1 < x < 1$

$$y = \operatorname{coth}^{-1}(x)$$

$$\operatorname{coth}(y) = x \Rightarrow -\operatorname{csch}^2(y) \frac{dy}{dx} = 1$$

$$\frac{dy}{dx} = \frac{-1}{\operatorname{csch}^2(y)}$$

$$\frac{d}{dy} \operatorname{coth} = -\operatorname{csch}^2$$

$$\boxed{1 \rightarrow x}$$

$$\operatorname{coth}^2(y) = 1 + \operatorname{csch}^2(y) \Rightarrow \boxed{\operatorname{csch}^2(y) = \operatorname{coth}^2(y) - 1}$$

$$\frac{dy}{dx} = \frac{-1}{\operatorname{coth}^2(y) - 1} \Rightarrow \frac{dy}{dx} = \frac{1}{1 - \operatorname{coth}^2(y)}$$

$$\frac{dy}{dx} = \frac{1}{1 - x^2} \quad ; |x| > 1 \rightarrow x > 1 \text{ or } x < -1$$

$$y = \operatorname{sech}^{-1}(x)$$

$$\operatorname{sech}(y) = x \Rightarrow -\operatorname{sech}(y) \operatorname{tanh}(y) \frac{dy}{dx} = 1$$

$$\frac{dy}{dx} = \frac{-1}{\operatorname{sech}(y) \operatorname{tanh}(y)}$$

$$\operatorname{tanh}^2(y) = 1 - \operatorname{sech}^2(y)$$

$$\operatorname{tanh}(y) = \pm \sqrt{1 - \operatorname{sech}^2(y)}$$

(-) dipolul eșo (1) tanh y > 0

$$= \frac{-1}{x \sqrt{1 - \operatorname{sech}^2 y}}$$

$$0 < x < 1$$

$$\frac{dy}{dx} = \frac{-1}{x \sqrt{1 - x^2}}$$

$$y = \operatorname{csch}^{-1}(x)$$

$$\operatorname{csch}(y) = x$$

$$-\operatorname{csch}(y) \operatorname{coth}(y) \frac{dy}{dx} = 1$$

$$\frac{dy}{dx} = \frac{-1}{\operatorname{csch}(y) \operatorname{coth}(y)}$$

$$\operatorname{coth}^2(y) = 1 + \operatorname{csch}^2(y)$$

$$\operatorname{coth}(y) = \pm \sqrt{1 + \operatorname{csch}^2(y)}$$

$$\frac{dy}{dx} = \frac{-1}{x \sqrt{1 + \operatorname{csch}^2(y)}}$$

$$\Rightarrow \frac{dy}{dx} = \frac{-1}{x \sqrt{1 + \operatorname{csch}^2(\operatorname{csch}^{-1}(x))}}$$

$$\frac{dy}{dx} = \frac{-1}{|x| \sqrt{1 + x^2}}$$

$$x \neq 0$$

$$\frac{d}{dx}(\sinh^{-1}(\frac{x}{3})) = \frac{1}{3\sqrt{1 + \frac{x^2}{9}}} = \frac{1}{\sqrt{9 + x^2}}$$

$$\frac{d}{dx}(\cosh^{-1}(3x)) = \frac{3}{\sqrt{9x^2 - 1}}$$

Integrals of the Inverse Hyperbolic Functions

النتيجة هي بالأسفل لم يتدور
الدوال الزائدية

$$I = \int \frac{du}{\sqrt{u^2 + a^2}}$$

$$\Rightarrow \sqrt{u^2 + a^2} \Rightarrow a \sqrt{\left(\frac{u}{a}\right)^2 + 1}$$

$$\Rightarrow a \sqrt{\left(\frac{u}{a}\right)^2 + 1} = \sqrt{a^2 \left[\left(\frac{u}{a}\right)^2 + 1 \right]} = \sqrt{u^2 + a^2}$$

$$= \int \frac{du}{a \sqrt{\left(\frac{u}{a}\right)^2 + 1}} \Rightarrow \frac{1}{a} \int \frac{du}{\sqrt{\left(\frac{u}{a}\right)^2 + 1}}$$

$s = \frac{u}{a}$
 $u = sa$
 $du = a ds$

$$= \frac{1}{a} \int \frac{a ds}{\sqrt{s^2 + 1}} \Rightarrow \int \frac{ds}{\sqrt{s^2 + 1}}$$

$u = x, y, w$

$$= \sinh^{-1}(s) + c$$

$$= \sinh^{-1}\left(\frac{u}{a}\right) + c$$

$$\int \frac{du}{\sqrt{u^2 + a^2}} = \sinh^{-1}\left(\frac{u}{a}\right) + c$$

$$I = \int \frac{du}{\sqrt{u^2 - a^2}}$$

$$= \frac{1}{a} \int \frac{du}{\sqrt{\left(\frac{u}{a}\right)^2 - 1}}$$

$\frac{u}{a} = s$

$$\Rightarrow \int \frac{ds}{\sqrt{s^2 - 1}}$$

$s > 1$
 $\frac{u}{a} > 1$
 $u > a$

$$= \cosh^{-1}(s) + c$$

$$= \cosh^{-1}\left(\frac{u}{a}\right) + c$$

$$\int \frac{du}{\sqrt{u^2 - a^2}} = \cosh^{-1}\left(\frac{u}{a}\right) + c ; u > a$$

$$I = \int \frac{du}{a^2 - u^2}$$

$$= \frac{1}{a^2} \int \frac{du}{1 - (\frac{u}{a})^2} \quad ; \quad s = \frac{u}{a} \Rightarrow du = a ds$$

$$= \frac{1}{a} \int \frac{ds}{1 - s^2}$$

IF $s^2 < 1$

$$\frac{u^2}{a^2} < 1$$

$$u^2 < a^2$$

$$|u| < a$$

$$\therefore = \frac{1}{a} \tanh^{-1}\left(\frac{u}{a}\right) + c$$

IF $s^2 > 1$

$$\frac{u^2}{a^2} > 1$$

$$u^2 > a^2$$

$$|u| > a$$

$$\therefore = \frac{1}{a} \coth^{-1}\left(\frac{u}{a}\right) + c$$

$$\therefore \int \frac{du}{a^2 - u^2} \begin{cases} \rightarrow \frac{1}{a} \tanh^{-1}\left(\frac{u}{a}\right) + c & \text{IF } |u| < a \\ \rightarrow \frac{1}{a} \coth^{-1}\left(\frac{u}{a}\right) + c & \text{IF } |u| > a \end{cases}$$

$$I = \int \frac{du}{u \sqrt{a^2 - u^2}}$$

$$= \int \frac{du}{u \sqrt{a^2(1 - (\frac{u}{a})^2)}} \Rightarrow \frac{1}{a} \int \frac{du}{u \sqrt{1 - (\frac{u}{a})^2}} \quad ; \quad s = \frac{u}{a} \Rightarrow u = as$$

$$du = a ds$$

$$= \frac{1}{a} \int \frac{a ds}{as \sqrt{1 - s^2}} \Rightarrow = \frac{1}{a} \int \frac{-ds}{s \sqrt{1 - s^2}} \quad ; \quad 0 < s < 1$$

$$I = -\frac{1}{a} \operatorname{sech}^{-1}(s) + c$$

$$I = -\frac{1}{a} \operatorname{sech}^{-1}\left(\frac{u}{a}\right) + c$$

نقطت (-) العكس
 في حال اقل من واحد
 يكون

$$I = \int \frac{du}{u \sqrt{a^2 + u^2}}$$

$$= \frac{1}{a} \int \frac{du}{u \sqrt{1 + (\frac{u}{a})^2}}$$

$$= \frac{1}{a} \int \frac{x ds}{xs \sqrt{1 + s^2}}$$

$$= -\frac{1}{a} \int \frac{-ds}{s \sqrt{1 + s^2}}$$

$$= \frac{1}{a} \operatorname{csch}^{-1}(|s|) + C$$

$$= \frac{1}{a} \operatorname{csch}^{-1}\left(\frac{u}{a}\right) + C$$

$$s = \frac{u}{a} \rightarrow u = as \rightarrow du = a ds$$

$$s \neq 0$$

← $\operatorname{csch}^{-1}(\cdot)$ nie

$$s \neq 0$$

$$\frac{u}{a} \neq 0$$

$$a \neq 0$$

$$u \neq 0$$

$$a \neq 0, u \neq 0$$

$$\int \frac{du}{u \sqrt{a^2 + u^2}} = \frac{1}{a} \operatorname{csch}^{-1}\left(\frac{u}{a}\right) + C$$

$$\begin{aligned} \int \frac{1}{\sqrt{4x^2 - 1}} dx &= \int \frac{1}{2\sqrt{u^2 - 1}} du \\ &= \frac{1}{2} \cosh^{-1} u + C \\ &= \frac{1}{2} \cosh^{-1}(2x) + C. \end{aligned}$$

$$\begin{aligned} \int \frac{1}{2x\sqrt{1 - 9x^2}} dx &= \frac{1}{2} \int \frac{1}{u\sqrt{1 - u^2}} du \\ &= -\frac{1}{2} \operatorname{sech}^{-1}|u| + C \\ &= -\frac{1}{2} \operatorname{sech}^{-1}|3x| + C \end{aligned}$$

$$\int \frac{1}{\sqrt{x^2 - 4}} dx = \cosh^{-1}\left(\frac{x}{2}\right) + C$$

$$\int \frac{1}{\sqrt{1 - e^{2x}}} dx = -\operatorname{sech}^{-1}(e^x) + C$$

$$\begin{aligned} \int_0^1 \frac{2 dx}{\sqrt{3 + 4x^2}} &= \sinh^{-1} \left(\frac{2x}{\sqrt{3}} \right) \Big|_0^1 = \sinh^{-1} \left(\frac{2}{\sqrt{3}} \right) - \sinh^{-1}(0) \\ &= \sinh^{-1} \left(\frac{2}{\sqrt{3}} \right) - 0 \approx 0.98665. \end{aligned}$$